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Yest REVIEW: Solving Quadreatics by Factoring and Sgudre Reots
Part 1: Selve by Factoering.

1.x2—19x =0 2.36x2+48x =0
3.x2-121=0 4. 144x> —49 =0
5.x2+12x—28=0 6. x2—10x—39=0
7.x>—20x+100=0 8.x2—2x—15=0
9.2x2+14x —-36=0 10.x2 —9x+8 =0
11.5x2—=3x—-2=0 12.6x2 —41x—7=0




Part I1: Selve by teking squdre reots. If necessdary, ledve answers in

froaction form and simplified radicdls.

13.25x% + 11 = 60

14.9x? — 3 = 22

15. x> —13 =0

16. 5x2 = 160

17.x* -=5=15

18. (x — 5)2 = 16

19.4(2x — 5)2 = 16

20. —5(x + 2)% = 40
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Part 11: Solve by taking sqguore reots. If necesseary, leave answers in

freaction form and simplified radicdls.
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